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Which of the following is a structural change that happened in Indian economy due to British rule?

1. Modernisation of thought

2. Sanskritisation of lower castes

3. Dependency on British industrialisation
4. Westernisation of mass media

Options :

2268952642998. 1
2268952642999. 2
2268952643000. 3
2268952643001. 4

Question Number : 671 Question Id : 226895681706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952642998. 1
2268952642999. 2
2268952643000. 3
2268952643001 4

Question Number : 672 Question Id : 226895681707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Why is detailed demographic data important?

1. It helps in the planning and implementation of State policies.
2. It is a hallmark of modern nation-state.

3. It helps to have a birds's eye view of the population.

4. It helps to understand demographic transition.

Options :

2268952643002. 1
2268952643003. 2
2268952643004. 3
2268952643005. 4

Question Number : 672 Question Id : 226895681707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643002. 1
2268952643003. 2
2268952643004. 3
2268952643005. 4



Question Number : 673 Question Id : 226895681708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
What does the word 'dwija’ imply?

1. Double standards
2. Twice-born

3. Jajmani system

4. Prejudice

Options :

2268952643006. 1
2268952643007. 2
2268952643008. 3
2268952643009. 4

Question Number : 673 Question Id : 226895681708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643006. 1
2268952643007. 2
2268952643008. 3
2268952643009. 4

Question Number : 674 Question Id : 226895681709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The 'Population Explosion’ happens in which of the following stages?

1. First Stage

2. Third stage

3. Second stage

4. Developed stage

Options :

2268952643010. 1
2268952643011. 2
2268952643012. 3
2268952643013 4

Question Number : 674 Question Id : 226895681709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643010. 1
2268952643011. 2
2268952643012. 3



2268952643013. 4

Question Number : 675 Question Id : 226895681710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In order to avoid the provisions of the Land Ceiling Act, which among the following strategies was adopted by the
landowners?

1. Benami transfers

2. Contract farming

3. Abolition of zamindari system
4. Pay tax

Options :

2268952643014. 1
2268952643015. 2
2268952643016. 3
2268952643017 4

Question Number : 675 Question Id : 226895681710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643014 1
2268952643015.2
2268952643016. 3
2268952643017. 4

Question Number : 676 Question Id : 226895681711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the purpose of the Pre-natal Diagnostic Technigues (Regulation and Prevention of Misuse) Act?

1. To prevent abortion due to poverty and ignorance.

2. To give incentives to families to raise girl child.

3. To prevent female infanticide.

4. To prevent misuse of technology for selective abortions.

Options :

2268952643018. 1
2268952643019. 2
2268952643020. 3
2268952643021. 4

Question Number : 676 Question Id : 226895681711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643018. 1
2268952643019. 2
2268952643020. 3
2268952043021. 4

Question Number : 677 Question Id : 226895681712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is an "acquired" trait to classify tribes in India?

1. language

2. livelihood

3. racial features
4. habitat

Options :

2268952643022. 1
2268952643023. 2
2268952643024. 3
2268952643025. 4

Question Number : 677 Question Id : 226895681712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643022. 1
2268952643023. 2
2268952643024. 3
2268952643025. 4

Question Number : 678 Question Id : 226895681713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What was "Raiyatwari” system?

1. The tenants could keep two-third of the agricultural produce.

2. A situation of absentee landlords.

3. The cultivators paid agricultural tax directly to the British government.
4. Buying land in the name of others after land ceiling.

Options :

2268952643026. 1
2268952643027. 2
2268952643028. 3
2268952643029. 4



Question Number : 678 Question Id : 226895681713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643026. 1
2268952643027. 2
2268952643028. 3
2268952643029. 4

Question Number : 679 Question Id : 226895681714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

During 1960's Banshi and his fellow peasant workers organised committees to fight back against the atrocities and
oppressions of their landlords. This social movement strived to change the existing social and political arrangement.
What is this kind of movement called?

1. Redemptive
2. Reformist

3. Revolutionary
4. Radical

Options :

2268952643030. 1
2268952643031.2
2268952643032. 3
2268952643033 4

Question Number : 679 Question Id : 226895681714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643030. 1
2268952643031. 2
2268952643032 3
2268952643033 4

Question Number : 680 Question Id : 226895681715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Who had given the three aspects to the modern framework of change in colonial India?

1. Satish Saberwal

2. M. S. Rao

3. Keshav Chandra Sen
4. Vishnu Shastri

Options :

2268952643034 1
2268952643035. 2
2268952643036. 3
2268952643037. 4

Question Number : 680 Question Id : 226895681715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643034 1
2268952643035. 2
2268952643036. 3
2268952643037. 4

Question Number : 681 Question Id : 226895681716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the Liberal and Marxist critique of Malthus's theory of population growth?

1. That he disregarded poverty as a social problem.

2. That he only talked about positive and preventive checks.

3. That he did not give a detailed theory of demographic transition.
4. That he failed to give a theory of population explosion.

Options :

2268952643038. 1
2268952643039. 2
2268952643040. 3
2268952643041. 4

Question Number : 681 Question Id : 226895681716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643038. 1
2268952643039. 2
2268952643040. 3
2268952643041. 4



Question Number : 682 Question Id : 226895681717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What is the specific purpose of introducing Panchayati Raj governance?

1. To ensure direct grassroot democracy.
2. To act on poverty alleviation.

3. To ensure population control.

4. To ensure effective policy for State.

Options :

2268952643042. 1
2268952643043. 2
2268952643044. 3
2268952643045. 4

Question Number : 682 Question Id : 226895681717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643042. 1
2268952643043. 2
2268952643044. 3
2268952643045 4

Question Number : 683 Question Id : 226895681718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is a correct statement about demography?

1. Demographic change is purely biological.

2. Demographic data is a static data for a population.

3. Population explosion does not happen in every country.

4. Demographic change is based on economic, social and cultural variables.

Options :

2268952643046. 1
2268952643047. 2
2268952643048. 3
2268952643049. 4

Question Number : 683 Question Id : 226895681718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :
2268952643046. 1
2268952643047 2



2268952643048. 3
2268952643049. 4

Question Number : 684 Question Id : 226895681719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

(Types of Family) (Characteristic)

(A) Matrilocal Family () Consists of one set of parents and their children
(B) Patriarchal Family (Il) Based on the rule of residence

(C) Patrilineal Family (ll) Defines men exercise authority and dominance
(D) Nuclear Family (IV) It pertains to the rule of inheritance

Choose the correct answer from the options given below:

A) - (1), (B) - (), (C) - V), (D) - (1)
A) - (1), (B) - (1, (C) - (1), (D) - (V)
A) - (1), (8) - (1, (C) - (1), (D) - (V)
A) - (), (B) - V), (©) - (), (D) - (1)

1.
2.
3.
4.

Options :

2268952643050. 1
2268952643051. 2
2268952643052 3
2268952643053. 4

Question Number : 684 Question Id : 226895681719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(1), (B)-(lIn), (C)-(IV), (D)-(1)
2. (A)-(1), (B)-(1n, (-1, (D)-(IV)
3. (A)-(1n, (B)-(1), (C)-(1), (D)-(IV)
4. (A)-(In, (B)-(V), (C)-(1), (D)-0D)

Options :

2268952643050. 1
2268952643051. 2
2268952643052 3
2268952643053. 4

Question Number : 685 Question Id : 226895681720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are features of capitalism as a social system?
{A) Commoeodification of labour power.

(B) Caste based networks of trading.

(C) Surplus value.

(D) Rising inequalities.

Choose the correct answer from the options below.

1. (A), (B) and (D) only
2. (A), (C) and (D) only
3.(B), (C) and (D) only
4. (A), (B) and (C) only

Options :

2268952643054 1
2268952643055. 2
2268952643056. 3
2268952643057. 4

Question Number : 685 Question Id : 226895681720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643054 1
2268952643055. 2
2268952643056. 3
2268952643057. 4

Question Number : 686 Question Id : 226895681721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the term given by Jan Breman to migrant workers?

1. Dalit

2. Foot loose labour

3. Circulation of labour
4. Labour force

Options :

2268952643058. 1
2268952643059. 2
2268952643060. 3
2268952643061. 4



Question Number : 686 Question Id : 226895681721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643058. 1
2268952643059. 2
2268952643060. 3
2268952643061. 4

Question Number : 687 Question Id : 226895681722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The Nakarattars banking system is based on:-

1. Class based banking system
2. Caste based banking system
3. Western banking system

4. Free-Trade system

Options :

2268952643062. 1
2268952643063. 2
2268952643064. 3
2268952643065. 4

Question Number : 687 Question Id : 226895681722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643062. 1
2268952643063. 2
2268952643064. 3
2268952643065. 4

Question Number : 688 Question Id : 226895681723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



What are the characteristics of social stratification?

(A) It is based on natural differences.

(B) Itis a function of individual differences.

(C) It persists over generations.

(D) It is supported by patterns of belief/ideclogy.

Choose the correct answer from the options given below:

1. (A) and (D) only
2.(C) and (B) only
3. (C) and (D) enly
4. (A) and (B) only

Options :

2268952643066. 1
2268952643067. 2
2268952643068. 3
2268952643069. 4

Question Number : 688 Question Id : 226895681723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643066. 1
2268952643067. 2
2268952643068. 3
2268952643069. 4

Question Number : 689 Question Id : 226895681724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-11

List-1 List-1i

(Ferm/Nane) (Characteristics)

(A) Privatisation (1) Work which focuses on providing services like trade, transport, financial services etc.

(B) Disinvestment (I} Spread of investment into different types of economic activities in order to reduce risks.
(C) Tertiary sector (1ll) Private companies can invest in sectors earlier reserved for the government.

(D) Diversification (IV) The government sells its share in public sector companies.

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (1), (C) - (), (D) - (1)
2. (A) - (), (B) - (V) (©) - (0, (D) - (1)
3. (A) - (). (B) - (), (C) - (I}, (D) - (1)
4. (A) - (), (B) - (), (©) - (0, (D) - (V)

Options :

2268952643070. 1
2268952643071. 2
2268952643072. 3
2268952643073. 4

Question Number : 689 Question Id : 226895681724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1 D Gy Fe He

-1 -1

(T&/AT) (Rrgwam)

(A) Freit@mor () T B o SATOR, Uitae, fa<iia 9ans ofe ueH & R $iEd 81

(8) fafam () SREH @ &9 T3 & o &t ver o «nfie nfafaftat & Faw &1 maR|
(C) THT® &3 (1) T80 TRHR & o8 ARfEE &3 & @ st ufal fFaw &2 9adl 8l

(D) Tafasfee (V) TPR Fiae@ & &I Hut-ar § 39+ fewa s=di 8l

T feu e faweal & ¥ wdt s g
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2. (A)-(ln, (B)-(V), (C)-(1), (D)-0D)
3. (A)-(1), (B)-(11), (©)-(IV). (D)-(11D)
4. (A)-(In, (B)-(11, (CQ-(), (D)-(IV)

Options :

2268952643070. 1
2268952643071. 2
2268952643072. 3
2268952643073. 4

Question Number : 690 Question Id : 226895681725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is correct about unorganised sector work in India?

1. Less number of people work in this sector.

2. It is independent of personal relationships.

3. Lack of proper wages and other working conditions.
4. It is only for women and unskilled labourers.

Options :



2268952643074 1
2268952643075.2
2268952643076. 3
2268952643077. 4

Question Number : 690 Question Id : 226895681725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643074. 1
2268952643075. 2
2268952643076. 3
2268952643077. 4

Question Number : 691 Question Id : 226895681726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
The characteristics of the caste system:-
(A) Caste is an ascribed status.
(B) Caste groups are 'endogamous’.
(C) Caste is an achieved status.
(D) Castes involve segmental organization.
(E) Caste groups are based on choice of individuals
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (D), (B) and (C) only
3. (A), (B) and (E) only
4. (B), (C) and (E) only

Options :

2268952643078. 1
2268952643079. 2
2268952643080. 3
2268952643081. 4

Question Number : 691 Question Id : 226895681726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643078. 1
2268952643079. 2
2268952643080. 3
2268952643081. 4

Question Number : 692 Question Id : 226895681727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

In a democratic state, which of the following is a key actor in governance?

1. Women's groups

2. Status groups

3. Political parties

4. International organisations

Options :

2268952643082. 1
2268952643083. 2
2268952643084. 3
2268952643085. 4

Question Number : 692 Question Id : 226895681727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FafaRad § 8 oF Ue diedibe Ued & e H UHE HHe] FH 82

1. Higd T8

2. yiefd 9Hg
3. IS &
4. SRIH F1E

Options :

2268952643082. 1
2268952643083. 2
2268952643084. 3
2268952643085. 4

Question Number : 693 Question Id : 226895681728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



According to Emile Durkheim, what is the cause of suicide?

1. It is based on individual mindset.

2. It is based on biological anomaly.

3. It is influenced by social causes.

4. It is more prevalent in western countries.

Options :

2268952643086. 1
2268952643087. 2
2268952643088. 3
2268952643089. 4

Question Number : 693 Question Id : 226895681728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

THT GEigH & UR HETRd & SR & o7

1. T8 SiGaTd AHYEHAl IR S &1
2. 8 Jifad [GEfd R semfa Bl
3. T8 YrEIfoe SRUT 8 THIad 81
4. 78 ufg e ¥ offie uefad g |

Options :

2268952643086. 1
2268952643087. 2
2268952643088. 3
2268952643089. 4

Question Number : 694 Question Id : 226895681729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Which of the following is an example of the reformist social movement?

1. Right To Information

2. Bolshevik Revolution

3. Naxalite Movement

4. Anti-abortion Movement

Options :

2268952643090. 1
2268952643091. 2
2268952643092. 3
2268952643093. 4

Question Number : 694 Question Id : 226895681729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FfaRad & O &F 91 GQURAIE] SHINE AHGITH ®1 U6 366U o7

1. Y1 @1 HHIBR
2. drRifa® Hifa

3, Taga el

4. THE-md@ igeH

Options :

2268952643090. 1
2268952643091. 2
2268952643092. 3
2268952643093. 4



Question Number : 695 Question Id : 226895681730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

According to Max Weber, on what basis classes and status groups are differentiated?

1. Sacial facts

2. Lifestyles

3. Caste system

4. Market economy

Options :

2268952643094. 1
2268952643095. 2
2268952643096. 3
2268952643097. 4

Question Number : 695 Question Id : 226895681730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
B OaR & HTOR I AR WRUTT el 7 ofR e d SR W 51 ol 87

1. rHISID ae
2. Wit gt

3. SAIfd a1

4, S9R 3feqaw

Options :

2268952643094. 1
2268952643095. 2
2268952643096. 3
2268952643097. 4

Question Number : 696 Question Id : 226895681731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which among the following statement(s) is/are correct about the Raiyatwari system:-
(A) Raiyat means cultivator.

(B) The actual cultivators were responsible for paying the tax.

(C) Zamindars play a dominant role.

(D) Colonial government dealt directly with the farmer.

Choose the correct answer from the options given below:

A), (B) and (D) only
A), (B) and (C) only
A), (C) and (D) only

(
(
(
(B), (C) and (D) only

1.
2
3.
4.

Options :

2268952643098. 1
2268952643099. 2
2268952643100. 3
2268952643101. 4

Question Number : 696 Question Id : 226895681731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Froffed 9 3 SH-T1/8 T3 gaars! yorel & aR 3 T8 8727
(A) XTd @7 3 € T |

(B) RATA® HYEH B BT YTAH B & 108 Faar! 4|

(C) STHieR TP WHE YfH®T HHId 41

(D) R MeR = WY HuE ¥ WaR 3G

i feu e eyl H § et 3R 9

1. a4 (A), (B) 3R (D)
2. %44 (A), (B) 3R (Q)
3. %44 (A), (€) 3R (D)
4.%dd (B), () IR (D)

Options :

2268952643098. 1
2268952643099. 2
2268952643100. 3
2268952643101. 4

Question Number : 697 Question Id : 226895681732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the following in chronological order:-

{A) Bengal Revolt

(B) Champaran Satyagraha

(C) Deccan Riots

(D) Bardoli Satyagraha

Choose the correct answer from the options given below:
1.40), (
2.(A), (C
3.(B) (
4.(Q), (B),

Options :

2268952643102. 1
2268952643103. 2
2268952643104. 3
2268952643105. 4

Question Number : 697 Question Id : 226895681732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



FEfaRad & Sramhe 58 1 saryd -

(A) ST fage

(B) IURU HAE

(C) TFp fagg

(D) SRGICH GAHE

3 Ry Ty el 4 3 Wl SR 9

Options :

2268952643102. 1
2268952643103. 2
2268952643104. 3
2268952643105 4

Question Number : 698 Question Id : 226895681733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No

Correct Marks : S Wrong Marks : 1

The process by which something which was not a commodity before in market economy and is made into a

commodity is known as:-

1. Commoditisation

2. Capitalism
3. Labour power

4. Mode of production

Options :

2268952643106. 1
2268952643107. 2
2268952643108. 3
2268952643109. 4

Question Number : 698 Question Id

Mandatory : No

Correct Marks : S Wrong Marks : 1

: 226895681733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

IE Uieea forgd gRI @1 i O off Ued 9wk & e famd! o 98 9ok © fa®- arell a5g &9 91 &, & &9 & o] arar

1. QUi

2. 4l
3. o Thiad

4. 3G &l HIEH

Options :

2268952643106. 1
2268952643107 2
2268952643108. 3
2268952643109. 4

Question Number : 699 Question Id : 226895681734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11

List-1 List-11

(Name) (Example)

(A) Eenadu (1) Radio Channel

(B) Zee TV (Il) Soap Opera

(C) AIR (1l Telugu Newspaper
(D) Buniyad (IV) Satellite Channel

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

) = (1), (B) - (1), (C) - (V). (D) - (1)
)= (1, (B) - (1), () - (W), (D) - (V)
) - (), (B) - (V). (Q) - (1), (D) - (1)
) - (1), (B) - (V). (Q) - (1), (D) - (1)
Options :

2268952643110. 1

2268952043111.2

2268952043112 3

2268952043113. 4

Question Number : 699 Question Id : 226895681734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1 D Gy Fe He

-1 -1

(-TH) (3TTER)

(A 3T URERIESE]

(B) o &Yt (11) TG 3FE=T

(C) STHTIGN (@S HR) (111 T SHER O
(D) §fFETE (Iv) SUTE I

I feu e famea! & ¥ wet SR T

1. (A)-(1), (B)-(1), (C)-(1V), (D)-(1IN)
2. (A)-(), (B)-(1n, (Q)-(I1), (D)-(1V)
3. (A)-(ln, (B)-(V), (C)-(1h, (D)-()
4. (A)-(In, (B)-(V), (C)-(1), (D)-0D)

Options :

2268952643110. 1
2268952643111.2
2268952643112 3
2268952643113. 4

Question Number : 700 Question Id : 226895681735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11

List-1 List-1I

(Book/Thaary propasad) (Author/Thinker)

(&) The Three Sermons of Human Nature (I) Begum Rokeya Sakhawat Hussain
(B) The City (1) Ralph Ellison

(C) Sultana's Dream (ll) Bishop Joseph Butler

(D) Invisible Man (IV) Daya Pawar

Choose the correct answer from the options given below:

1. (A) - (1, (B) - (0, (C) - (I, (D) - (V)
2. (A) - (1), (B) - (v}, (©) - (), (D) - (1)
3. (A) - (), (B) - (V) (©) - (I, (D) - ()
4. (A) - (1), (B) - (1), (C) - (), (D) - (V)

Options :

2268952643114. 1
2268952643115.2
2268952643116. 3
2268952643117 4

Question Number : 700 Question Id : 226895681735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1 D Gy Fe He

-1 -

(T /Tt Ry @Es/fAR®)

(A) T 9T TRHT ofF g AR (1) ST $HUT TWad g
(B) TR (1) e e

(€) e 911 (1) o2 S 9eer
(D) Sfafsea 89 (IV) G41 9aR

= feu e fawegl & ¥ wet S T

1. (A)-(1), (B)-(1), (Q)-(11), (L)-(IV)
2. (A)-(In, (B)-(V), (C)-(1). (D)-(1D)
3. (A)-(In, (B)-(V), (C)-(1n), (D)-(N)
4. (A)-(1). (B)-(10, (Q)-(IN), (D)-(1V)

Options :

2268952643114. 1
2268952643115 2
2268952643116. 3
2268952643117. 4

Question Number : 701 Question Id : 226895681736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Prejudices are often grounded in:-

1. Direct evidence

2. Logical conclusions
3. Stereotypes

4. Critical thinking

Options :



2268952643118. 1
2268952643119.2
2268952643120. 3
2268952643121. 4

Question Number : 701 Question Id : 226895681736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1. U6 1&g

2. A ey
3. ®iedi

4. HAEATHS I

Options :

2268952643118. 1
2268952643119.2
2268952643120. 3
2268952043121. 4

Question Number : 702 Question Id : 226895681737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statements are correct in respect of New Farmer's Movement:-
(A) It began in Punjab and Tamil Nadu.

(B) It was party oriented.

(C) Ideology was anti-state and anti-urban.

(D) The focus of demand was price and its related issues.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (C) and (D) only
4.

(B), (C) and (D) only

Options :

2268952643122. 1
2268952643123.2
2268952643124. 3
2268952643125. 4

Question Number : 702 Question Id : 226895681737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



U M efieieH & Hey H FEfoRad 3 9 o1H-91 oY 98l 8-
(A) TP LT dond AR aeg T gl

(B) UE UIeT 3=14@ T

(¢) faarem wg fadidh ok wedl favish ot

(D) |7 & g H Hed 3R I9Y Haifdd 18 4|

i faw o fasedl F § wEt I -

1. a4 (A), (B) 3R (D)
2. %44 (A), (B) 3R (Q)
3. %44 (A), (€) 3R (D)
4.%dd (B), () IR (D)

Options :

2268952643122 1
2268952643123 2
2268952643124. 3
2268952643125. 4

Question Number : 703 Question Id : 226895681738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

(Concept) (Example)

(&) Sanskritisation (1) Dalit groups adopting the use of fork and spoons.

(B) Westernisation (1) Dalit groups adopting the practice of dowry.

(C) Modernisation (1) Public advertisements for jobs stating qualification only.
(D) Secularisation (IV) Public holidays for festivals of all religions.

Choose the correct answer from the options given below:

1.(A) - V), (B) - (), () - (), (D) - (1)
2. (A) - (), (B) - (1), (C} - (1), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (V). (D) - (1)
4. (A) - (1), (B) - (V). (©) - (D), (D) - ()

Options :

2268952643126. 1
2268952643127.2
2268952643128. 3
2268952643129. 4

Question Number : 703 Question Id : 226895681738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 BT -1 D Gy Fe He

-1 -1

(SHTUTIUM) (I<TEX)

(A) HEPHIHIT (1) GRTd THE DI 3R T BT SUGN B R ¢

(B) ufEEfieeo (11) GFoTd TR Gaw &1 U1 ST 3% o

(C) YTl (1) e grmar i Sieial & e adafe G
(D) HEFRYaET vy Tt «f & WRR! & o gdei-E sa@|

I feu e faweal & ¥ wet I T

1. (A)-(IV), (B)-(111), (©)-(M), (D)-(N)
2. (A}, (B)-(1), (©-(m), (D)-(V)

3. (A)-(11), (B)-(1), (Q)-(1V), (D)-(11N)
4. (A)-(1), (B)-(v), (O)-(1). (D)-(1N)

Options :

2268952643126. 1
2268952643127 2
2268952043128. 3
2268952643129. 4

Question Number : 704 Question Id : 226895681739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The Adi Dharma Movement in India belonged to which category of social movement?

1. Caste Based Movement
2. Worker's Movement
3. Peasant Movement

4. Ecological Movement

Options :

2268952643130. 1
2268952643131.2
2268952643132.3
2268952643133. 4

Question Number : 704 Question Id : 226895681739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

YR H 3nfe o7 sicia gmfes siaiad &f [y 9oft § Jefia ur

1. ST SMenfed e
2. YfH®! @I G
3. PUSD Gl

4, UIRFRfG® saled

Options :

2268952643130. 1
2268952643131. 2
2268952643132.3
2268952643133. 4

Question Number : 705 Question Id : 226895681740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following in chronological order:-

(A) Caste Disabilities Removal Act

(B) First Backward Commission

(C) The Scheduled Castes and Scheduled Tribes (prevention atrocities) Act
(D) State Reorganization Commission

Choose the correct answer from the options given below:

Options :

2268952643134. 1
2268952643135. 2
2268952643136. 3
2268952643137. 4

Question Number : 705 Question Id : 226895681740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
FARad & PIaHHS HH H aiyd Hi-
A) Sifa Frafaer Faro sfafag
(B) WG ST o7 SRt
(C) SFTYaa wifa AR A ST (FEER Har) JffFge
(D) I8 TG HTMT
i fu 7Te el & § Wl I I+

1.(D), (
2. (A), (B), (D), (
3.(8), (A), (D). (C
4.(Q), (B), (D), (A

B), (O), (A)
Q)

Options :

2268952643134. 1
2268952643135.2
2268952643136. 3
2268952643137. 4

Question Number : 706 Question Id : 226895681741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The term 'dikus’ refers to:-

1. Adivasis

2. Dalit

3. Migrant traders and Money lenders
4. Migrant workers

Options :

2268952643138. 1
2268952643139. 2
2268952643140. 3
2268952643141. 4



Question Number : 706 Question Id : 226895681741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
T Teg BT o 8 -

1. SHTieardt

2. e

3. UaRIT SATORT 3R WEPR
4. Yol Auigt

Options :

2268952643138. 1
2268952643139. 2
2268952643140. 3
2268952643141. 4

Question Number : 707 Question Id : 226895681742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following denotes racial discrimination followed in South Africa?

1. Apartheid
2. Assimilation
3. Reservation
4. Prejudice

Options :

2268952643142. 1
2268952643143.2
2268952643144. 3
2268952643145. 4

Question Number : 707 Question Id : 226895681742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Frafaiad # 9 o1H-91 aféor 3ubieT H TRy HeHTE ®f Gidl 67

1.3
2. UHIH
3. HREU

4. a8

Options :

2268952643142. 1
2268952643143.2
2268952643144. 3
2268952643145. 4

Question Number : 708 Question Id : 226895681743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following in order of their year of occurrence:-
(A) Statehood for Jharkhand

(B) All India Trade Union Congress

(C) Bihar Provincial Kisan Sabha

(D) All India Kisan Sabha

Choose the correct answer from the options given below:

1.(8), (Q). (D), (A)
2. (A), (Q), (B), (D)
3.(B), (A), (D), (©)
4.(Q). (B). (D). (A)

Options :

2268952643146. 1
2268952643147. 2
2268952043148. 3
2268952643149. 4

Question Number : 708 Question Id : 226895681743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FafaRad @1 39 1164 & Y & HH H THafyd He:-
(A) IRES B TT BT goll

(8) ST YR <8 IFa SHiod

(C) T9eR Uidig foam gur

(D) 3fEd YR forg= T

4 feu e faeul 5 § Wat 3w

1.(8), (Q). (D), (A)
2. (A), (Q), (B), (D)
3.(B), (A), (D), (©)
4.(Q). (B). (D). (A)

Options :

2268952643146. 1
2268952643147.2
2268952643148. 3
2268952643149. 4

Question Number : 709 Question Id : 226895681744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Ritu works for an IT firm and is happy that the firm gives her freedom of working hours. She can even work late on

Saturday night and come late on Monday, every time her boss gives her a deadline. Also, most meetings happen over
a weekend dinner at the office. What is Ritu being subjected to?

1. knowledge economy where her work is in the IT sector

2. 'flexi-time" but in reality expansion of working hours by the management
3. globalisation because her clients are in Japan

4. gender discrimination

Options :
2268952643150. 1
2268952643151. 2



2268952643152. 3
2268952643153. 4

Question Number : 709 Question Id : 226895681744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

g @ amsdt wrf & fow oM ol @ IR G § o i S8 &1 o & Hel & Wdadr ol 1 98 WHaR @ o3 39d @ off
T B G & AR AR B &2 ¥ 3 TPl 8, BY 9K od 34 819 34 THY U1 &d 81 3d fad], s 98d
T o el & AEHE R gl o | R & 91 |18l Wi e?

1. TS TR Sol S0 &8 AR a3 5 8

2. TiGl-TTgH Tifte ad § WeE gRI &1H & Hel @ [9WR
3. YHSH® Hiih 39 I JuH § &

4. Wi ey

Options :

2268952643150. 1
2268952643151. 2
2268952643152. 3
2268952643153. 4

Question Number : 710 Question Id : 226895681745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following events in order of their occurrence:-
{A) Hong Kong Influenza
(B) Spanish Flu
(C) Asian Influenza
(D) First Population Policy in India

Choose the correct answer from the options given below:

Options :

2268952643154. 1
2268952643155.2
2268952643156. 3
2268952643157. 4

Question Number : 710 Question Id : 226895681745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



FAfaRad geATell @ 3] 9] & $H § oFayd B:-
(A) BITHFT SIS

(8) TFRT T

(C) TR SRS

(D) YR ¥ ugelt SsE Hifd

A3 R fied 4 3 Wl SR TH

1.(B), (D
2.(A), (C
3. (B), (A
4.(C), (B

() (A)
(B), (D)

(D). (@)
(D) (A)

LS .

=

[

Options :

2268952643154. 1
2268952643155. 2
2268952643156. 3
2268952643157 4

Sub-Section Number : 2
Sub-Section Id : 22689528056
Question Shuffling Allowed : No

Question Id : 226895681746 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (711 to 715)

Read the passage carefully and answer the questions based on the passage:

The Right to Information Act 2005 (Act No. 22/2005) is a law enacted by the Parliament of India giving Indians access to
government records. Under the terms of the Act, any person may request information from a “public authority” (a body of
Government or instrumentality of State) which is expected to reply expeditiously or within thirty days. The Act also requires
every public authority to computerize their records for wide dissemination and to proactively publish certain categories of
information so that the citizens need minimum recourse to request for information formally. This law was passed by Parliament
on 15 June 2005 and came into force on 13 October 2005. Information disclosure in India was hitherto restricted by the Official

Secrets Act 1923 and various other special laws, which the new RTI Act now overrides. The Act specifies that citizens have a right
to:

* Request any information (as defined)

Take copies of documents

Inspect documents, works and records
® Take certified samples of materials of work.

Obtain information in the form of printouts, diskettes, floppies, tapes, video cassettes or in any other electronic mode.

Sub questions

Question Number : 711 Question Id : 226895681747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The Right To Information Act came into force on:-

1.15 June, 2005
2.13 October, 2005
3. 22 October, 2005
4.17 June, 2005

Options :

2268952643158. 1
2268952643159. 2
2268952643160. 3
2268952643161. 4



Question Number : 712 Question Id : 226895681748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Under RTI who is given accountability?

1. A Public Authority

2. Private Organisations
3. Citizen of India

4. Civil Society

Options :

2268952643162. 1
2268952643163. 2
2268952643164. 3
2268952643165 4

Question Number : 713 Question Id : 226895681749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

Which of the following act is overrided by RTI Act?

1. Prevention of Atrocity Act
2. Official Secrets Act

3. Persons With Disability Act
4. Government of India Act

Options :

2268952643166. 1
2268952643167.2
2268952643168. 3
2268952643169. 4

Question Number : 714 Question Id : 226895681750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

Which of the following statements are correct about the purpose of RTI Act?

1. Gives citizens access to government records.

2. Prohibit public authorities to provide data voluntarily to the public.
3. RTI brings transparency in private organisations too.

4. Put accountability on public for good governance.

Options :

2268952643170. 1
2268952643171. 2
2268952643172.3
2268952643173. 4

Question Number : 715 Question Id : 226895681751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Within how many days, a public authority is expected to reply under RTI?

1. 20 days
2.10 days
3. 30 days
4. 41 days

Options :
2268952643174. 1
2268952643175. 2



2268952643176. 3
2268952643177. 4

Question Id : 226895681746 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (711 to 715)

TfYese B W | U8 i 39 Te & STUR W Usl & SW &

T &1 AER HAFET 2005 (AT @A 22/2005) YRGE 4G 11 ST 06 U9 SMF & @ YRAA! & WaR!
ARG 9F Ugd UaH @xdl ol AT @ Tt @ o, 35 of wftd fodl udvne Wiiee (ReN Fen 91 I @)
TUE) © G & U SFRIY &Y adl § SR 99 WiisR0l § 2w ¥ a1 19 & & fieR vae ¢ @f 9=fi @ 91 81 39
ST ¥ Ud® Qaui-® Wievl § s UUR & Y A0 AR f Srgeids o SR T Arl 8 Eih a1 &
WY e ©U 9§ USRI 3 B Ul SUeT Tl ¢ At AFIRD! & SHaiG €9 3 a1 & [0 1Y S & g gad
el 1 Havaddl g1 UUE §RI 98 B 15 S 2005 I UM fBa1 7 47 3R 13 S{agaR 2005 B AR g 4Tl HRd H a1
HIB0 3F 0o WER! [ ARFTH 1923 3R S o =Y Sl g1 Ufasfid o1, o/ 3@ AU gaAiieR HffEe 435
= fear g1 fufay ug GfEy s g & Tmie! of Fafafea @ sfier &

o foddl off e afeunite) & e Ry &

RS ICEiCAR G BIEE

o GGG, BT AR el @ Fam S

« T &5 gEiE! & T T o @1 @R Bl

« fifeanae, foe, T, 20, Sifsal S a1 ol o Soigel-d Sid O o Ui &2 9&d & |

Sub questions

Question Number : 711 Question Id : 226895681747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Yo BT SYBR ATUEH 59 o7 arg ge:-

1.15 9, 2005
2.13 R, 2005
3.22 AT, 2005
4.17 9, 2005

Options :

2268952643158. 1
2268952643159.2
2268952643160. 3
2268952643161. 4

Question Number : 712 Question Id : 226895681748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

RSN B dgd [d Faecal o Sid! 87

1. T Giao—d TIEHI0
2. el gia

3. YRd B AFIRS

4, AFTRS GH

Options :

2268952643162 1
2268952643163. 2
2268952643164 3
2268952643165. 4

Question Number : 713 Question Id : 226895681749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



fgfafad o 9 oF-a1 ffmg REems Uae g JuRied (3iawzs) fear mre?

1. AR AR AT
2. ORI T SHaFgH

3. famaT oafga e
4, HRd WHR g9

Options :

2268952643166. 1
2268952643167. 2
2268952643168. 3
2268952643169. 4

Question Number : 714 Question Id : 226895681750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

SRETes AT & Sexg & e | FEfafGa S ¥ o syE gel 82

1. ARD| B WEBR el 9P Ugd U Hidl o

2. Grdad UERT ®f W1 ¥ a1 @I 321 UeH $3- § Uk &
3, ARt el Trel & off urefRfar aan 81

4, A & [0 91 ) SaMGe! sTad g

Options :

2268952643170. 1
2268952643171.2
2268952643172. 3
2268952643173. 4

Question Number : 715 Question Id : 226895681751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

HRAATE & Siciq Gideiie WiHsRor ¥ fbad T & iR Siare & & e &1 St 82

1.20fe9
2.10 &7
3.30f6&F
4,417

Options :

2268952643174. 1
2268952643175.2
2268952643176. 3
2268952643177 4

Sub-Section Number : 3
Sub-Section Id : 22689528057
Question Shuffling Allowed : No

Question Id : 226895681752 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (716 to 720)

Read the passage carefully and answer the questions based on the passage:

There has been greater recognition that both men and women are constrained by dominant gender identities. For instance,
men in patriarchal societies feel they must be strong and successful. It is not manly, to express oneself emotionally. A gender-
just society would allow both men and women to be free. This, of course, rests on the idea that for true freedom to grow and
develop, injustices of all kinds have to end. The idea of a gender-just society is based upon two important factors — educated
women with multiple roles and improved sex ratio. The programme of the Government of India, Beti Bachao, Beti Padhao Yojana
is an important effort in the actualization of a gender-just society.

Sub questions



Question Number : 716 Question Id : 226895681753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Patriarchal society refers to:-

1. Dominant role of men

2. Dominant role of women
3. Rule of residence

4. Rule of lineage

Options :

2268952643178. 1
2268952643179. 2
2268952643180. 3
2268952643181. 4

Question Number : 717 Question Id : 226895681754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the basis for a gender-just society?

1. Gender idenities based on commonsense.

2. Multiple gender roles and conflicts.

3. Presence of dominant gendered identities as role models.

4. Presence of educated women with multiple roles and improved sex ratio.

Options :

2268952643182. 1
2268952643183.2
2268952643184. 3
2268952643185. 4

Question Number : 718 Question Id : 226895681755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What do men in patriarchal society usually feel?

1. Strong and successful
2. Equal to women

3. Underprivileged

4. Assume secondary role

Options :

2268952643186. 1
2268952643187. 2
2268952643188. 3
2268952643189. 4

Question Number : 719 Question Id : 226895681756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The government scheme of Beti-Bachao, Beti-Padhao is an example of :-

1. Gender biasness towards girl child.

2. Changes in patriarchal society.

3. Improved social status of girl child.

4. Actualisation of a gender-just society.

Options :
2268952643190. 1
2268952643191. 2



2268952643192. 3
2268952643193. 4

Question Number : 720 Question Id : 226895681757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What is the situation of women in patriarchal society?

1. Have dominant role in household.

2. Can do all kinds of work.

3. Have equal access to resources.

4. Face discrimination in various spheres.

Options :

2268952643194. 1
2268952643195. 2
2268952643196. 3
2268952643197 4

Question Id : 226895681752 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (716 to 720)

TfYese B W | U8 i 39 Te & STUR W Usl & SW &

o 919 @ Hfw T et & 5 0w 3R T aF1 8 Uad fov-UeaH R 914 & | 3aTeXUl & [t f[OqadieTd 9e & 590! &l
T & foF 98 AIdhdar SR 9hd gH1 Fiiet| HIGHTdS ¥4 3 Wg & odad BT JeNid gl o | ofel eff ¥ YHardid] 94 geul
R gl & ®f a7 aiF @ A8k & F:UcE 78 39 faar R R € o O= Sadaa @1 0! SSHuR 961 3R oo adff
UG BN 19 Bis HOM A Bl W 2 U TaEG! 9O @ fOR & Tedqy oR®! W UG &- B3 Yhmed ari Qféh
Tigan R Jear /IO | YRd WER & 91 a1, 3¢ Ul aiom wiex 2 ¥ THdEm] 999 & JIeR H- B Uh Agagyl
TaTg Bl

Sub questions

Question Number : 716 Question Id : 226895681753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

fIgoeTE® 99 &1 A o

1. ToHT @ Jad Y@
2. Aieanat o uea yffan
3. g &1 e

4, 99 @1 FTH

Options :

2268952643178 1
2268952643179.2
2268952643180. 3
2268952643181. 4

Question Number : 717 Question Id : 226895681754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

S5t off U vraiaE! 9 &1 YR 39 87

1. G O W UG dff e TgaH|

2. oy 3 yfaat 3R 55

3.3 Hisd & ¥4 ¥ Ued diie UgaH! @ Suredfd]

4. oty yftresrai arel g Afgansd & SuRYRT ok U ¥ gur|

Options :
2268952643182 1



2268952643183.2
2268952643184. 3
2268952643185. 4

Question Number : 718 Question Id : 226895681755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

IToaTE® 99 § 08Y SR R & Tegy &3d a7

1. dI&daR AR IHd
2. afganedt & 999
3. dfd

4, 71707 YT Y

Options :

2268952643186. 1
2268952643187 2
2268952643188. 3
2268952643189. 4

Question Number : 719 Question Id : 226895681756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

WHR @I §l-aa13i, a1-grei GieT U UH Jalel o:-

1. FTT@Ia & Ui AR gave|

2. foqaare® vae & ufkadH |

3. ETra @) greterd feufd § gaR)

4. 953 2fF U THAEG] SH &1 9IHR g

Options :

2268952643190. 1
2268952643191.2
2268952643192 3
2268952643193. 4

Question Number : 720 Question Id : 226895681757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

fIgome® g9 1 Raal &f o fRufd 2

1. TR ¥ v9a Y|

2. BYTRE & BE B ol g

3. §OTeMAl 9% T9HE Ugal

4. Taft &t & YgHTe &1 9191 &ed! 8l

Options :

2268952643194 1
2268952643195. 2
2268952643196. 3
2268952643197 4



